REMEDIAL MATHEMATICS

Code: 17T00106A
Pharm.D | Year Advanced Supplementary Examinations February/March 2023
(For 2017, 2018, 2019, 2020 & 2021 admitted batches only)
Max. Marks: 70

Time: 3 hours
PART - A
(Compulsory Question)
1 Answer the following: (10 X 02 = 20 Marks)
2 31 2M
(a) Find the determinant of a matrix A = |6 5 2
1 4 7
(b) What s the use of Cramer’s rule? 2M
(c) Find the equation of the line passing through the point (1, 1) and perpendicular to the line 2M
passing through the points (3, 5) and (-6, -2).
(d) Ifa=18, b=24 andc = 30 then find sin A, sin B and sin C. 2M
(e) Solve the following system of equations by Cramer's rule x—y + 2z =7, 3x + 4y — 5z = -5, 2M
2x—y + 3z =12
() Integrate Is‘m‘xdx. 2M
dy 2M
Solve —=xy—y.
(9) g
(h) Solve: 2M
dy _ X+
dx X
(i) Find the Laplace transform of the function Cos2t . 2M
()  Find the Laplace Transform of e~ sint. 2M
PART -B
(Answer all five units, 5 X 10 = 50 Marks)
5M

2 (a) Find the determinant of the matrix A where
1 - T
A=1=3 =1 =3}
2 3
312 Lo oM
(b) IfA=[l ]andB= 2 1 |,find AB
3
OR
L _ 1 5M
. 2
3 (a) Evaluate J].:lﬂlz v 0"
If sinA = 3/5, cosB = 9/41 then find the value of sin(A-B ) and sin(A+B ) 5M
Contd. in page 2
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17T00106A

If y=acos(logx)+bsin(logx)show that x%y,.,» +(2n+1) Xy, +(n2 + l)yﬂ =,

Find the n" derivative of cosx cos2x cos3x.
OR

oz ,0%z
If z= t —ct), that — =c¢” —.
z=f(x+ct)+¢(x—ct), prove tha e

State and Prove Euler’s theorem on Homogeneous function.

dx
x(x-1)
Find the value offsin3 xdx .

Find the value of _[

OR

dy
Solve — =xy—y.
e Y=y

Solve y" =3y +2y =xe™*.

Solve % =3x(y+2).

Solve d_y= 2y

dc  x(y-1)

OR

Define: (i) Differential equation (ii) Order of a differential equation (iii) Degree of a differential

equation (iv) Linear differential equation with an example.

Solve the differential equation % +2y=e™
x

e’ c055r+tsin{+%y Find L[f(l)]

Find L(5sin¢+2sin3¢)

OR
Find L{e" sin 6f +fcos 3:}.

Find L[e"St'n 31]
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Code: 17T00106A

Pharm.D | Year Advanced Suppiementary Examinations April 2022

REMEDIAL MATHEMATICS
(For2017, 2018, 2018 & 2020 admitted batches only)

Time: 3 hours Max. Marks: 70

PART - A
(Compulscry Question)

Tk e

1 Answer the following: (10 X 02 = 20 Marks)

2 3 4

(a) Find the inverse of the matrix |4 3 1. %
1 2 4

(b) Iftan (cot x) = cot (tan x), then sin 2x.

(c) Suppose H(t) =t + 5t + 3. Find the lting H(Y).

(d) If y=¢"cosbhx, orove that v,+2ay ~f-(az +b*; =0,

) tvaluats lfz 53 tlx

; xlb | 3
. Laluate J sin®36d6 .
0

) dy y
Solve {x+1)L+1=2¢7".
(@) (x+1) - e

(h) Solve g«‘-’ =cos(x+y+1).
X

(i) Find the Laplace transform of sin2¢ sin3¢.

()  Find the Laplace transform of cos? 2t .

PART--B
(Answer all five units, 5 X 10 = 50 Marks)

7
2 (a) Reduce the matrix [ 16} to the diagonal form.

3 -1 1
(b) IFA=|-1 5 ~—I|Calculate A%
1 -1 3
CR
[<1 1 ~2]
3 .3) Reoucethematrix! | 2 | itothe diagonsl fo,n
|=f <t @]
] 1 3
(b) Findtheinverseof [ I 3 -3]|.
2 4 4

Contd. in page 2
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Find the nth derivative of e (2,r+3)3.

If y=acos(logx)+bsin(logx)show that X%y, +(2n+1)xv, + (;12 +1 )y” =0,
OR

Find the n™ derivative of log(4x2 —1] ;

If y= tan~) x prove that (l + xz)ywz +2(n+1)xy, +n(n+1)y, =0.

Evaluate J.; sin’(x/2) dx .

m
Evaluate I sin® xcos® xdx .
0

OR

T = i
Evaluate j *M-— dx
. (1+cos 6’)2

- A
- A
Evaluate ; - !4———i—dx,
G- x

Solve ;" +4y' +4y=3sinx.
Solve (D—-2)* = 8(si112x+x2).

OR
Solve y"—2y'+y=xe"cosx.

Solve y"—y=xsin3x.

Find the Laplace transform of ¢* cos® 2t
Find the Laplace transform of \/;63’.
OR

Find the Laplace transform of 3drs

S

3
Find the Laplace transform of [\/E :}—_-J )
t

*iikkk

Page 2 of 2 -



Code: 17T00106A

»r

Pharm.D | Year Supplementary Examinations July/August 2021

REMEDIAL MATHEMATICS
(For 2017, 2018 & 2019 admitted batches only)

Time: 3 hours ' Max. Marks: 70
PART - A
(Compulsory Question)
1 Answer the following: (10 X 02 = 20 Marks)
1 2 3
(@) Determine the rank of the matrix | 1 4 2.
2 8 3
(b) Ifthe sides of a triangle are 13,14,15, then find Somd ;
Sin B
() Ify=ae™ +be™  then prove that y" =n’y.
0’ o’
(d) Ifz= f(x+ct)+g(x—ct), then prove that —25 =gt ——f-
: : ot ox
4 x2
(e) Evaluate the integralf dx.
B -

i 16 xl,M
(f) Evaluate '[[mdx

6/5
: d’y (dy 3
(9) Find the order and degree of —+[— =6y.
. a?  \dx d
: . . dy 3
(h) Solve the differential equatlon:ix—+ ytanx=cos x.

()  Find the equation of the circle for * . hich the points (1, 2) and (4, 6) are the end points of a diameter.
() Define Laplace transform. ’

PART -B
(Answer all five units, 5 X 10 = 50 Marks)

. ) 2 1 -3 2 -2 4
2 (a) Find the matrix A such that i s A =

5 =3 3 =1l
(b) () Ifa=(b-c)sech, prove that tanﬁzzﬁsiné.
b—-c 2
- . B
(i) !fa=4,b=5,c=7,fmdcos§.
OR

3 (a) Investigate the values of 1 and # so that the equations 2x+3y+5z=9 , 7x+ 3y-2z=8 ,
2x+3y+Az = u, have: (i) No solution. (i) A unique solution. (iii) An infinite number of solutions.

B e
"(b) InaA ABC show that b EC - Slln(B ) ‘
a sin(B+C)

Contd. in page 2
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Code: 17T00106A

4-x* if x<0
x-5 if 0<x<lI
4x* -9 if 1<x<?2
3x+4 if x22

(b) If y=ae™cos(cx+d) then, prove that y"+2by'+(b’+c*)y=0.

4 (a) Check the continuity of the function given by f(x)= at the points 0, 1 and 2.

OR
a a x} 1 3
5 (a) Show that x—u+y—u= 2ulogu wherelog u:—(—y).
o oy (3x+4y)
(®) Ify= (sin" x)2 , show that (1 —;vcz)y",(2 —(2n+1)xy,,, —n"y, =0 hence find (y,) by using Leibnitz

theorem.
4
6 (a) Evaluatej.x x> —1 dx.
|

4
(ii) Evaluateﬂ 2—x|dx.
0

I/n
(b) Evaluate Lr’m[(HLJ[HEJ ......... [14-2]} by using definite integral as the limit of a sum.
n

n—0 n n
OR

1
7 (a) EvaluateJxTan"xdx.
0

(b) Evaluatejis—lﬂf—dx.
y 1+cos” x

2 2
8 (a) Sove XXV
dx 2x

2
(b) Solve %+‘f—dxy+y =(1—e")2.
OR
dy

9 (a) Solve the differential equationsin® x —+y =cotx .
X

(b) Solvey"+4y +4y=3sinx+4cosx.

10 (2) Find the equation of the tangents to the circle x*+ y® +2x—2y—3=0 which are perpendicular
to 3x—-y+4=0.
(b) Find Laplace transform of sin 27 sin 3¢ .
OR
11 (a) Find the foot of perpendicular drawn from (3, 0) upon the straight line 5x+12y—-41=0.

(b)  Find Laplace transform of ¢™ (2cos 5t —3sin5t).

dekkkk
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Code: 17T00106A

Pharm.D | Year Regular & Supplementary Examinations December 2021

REMEDIAL MATHEMATICS
(For 2017, 2018, 2019 & 2020 admitted batches only)

Time: 3 hours Max. Marks: 70

PART - A
(Compulsory Question)

ek ke

1 Answer the following: (10 X 02 = 20 Marks)
(2 5 4
(a) Findthe inverse ofthe matrix |4 3 |
1 2 4

(b) Iftan (cot x) = cot (tan x), then sin 2x.

(c) Suppose H(t) =t* + 5t + 1 Find the limit lim t -2 H(t).
(d) If y=e"sinbx, prove that y,-2ay, + (a] + b’)y =0,

(e) Evaluate J'T " cns® mdi
0

(h  Evaluate ["sin30d0
(g) Solve (x1 -y ]civ = 2.xdy .
(h)y Solve .1:2ydx—()ci +y’)dy =0.

() Find the Laplace transform of cos2s cos3s .

(J)  Find the Laplace transform of sin’ 2t

PART - B
(Answer all five units, 5 X 10 = 50 Marks)

2 (a) Express each of the following matrices as the sum of a symmetric and a skew symmetric matrix:
8 =2 61 ' '
27 -l

5 4 0

e
(]
£

(b) Find the inverse of | 4

'

]

OR
L -1 21 r 2 0]
3 (a) A=l

s

9 3|B=|2 3 -l|verfythat (48)  =B""a"l
4

[
|

]
3

st
~d

(1
(b) Prove that A =44* A+ 1E =0 where 4 <12 0 -]
] 5]

Contd. in page 2
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Code: 17T00106A

4 (a) Find the n" derivative of Y
1+3x42x"
(by If y= """ prove that (l = ,t!)ymz *(?.rr +1)xy,,, _(”z +m:)y" =0.

OR

5 (a) Find the n" derivative of x” +logyg (3):2 +3x - 2)_

r | l
(b) |fy = x:‘:e prove that V., :;rg(n —l)y! —n(n—z)yl +:}-—(n—[)(n-—2)y.

wl

6 ? ,
6 (a) Evaluate I cos' 3@sin' 60 dO using reduction formula.

]
1

(b) Evaluate J- 7 (1-x) " .

0
OR
L4 v
7 (a) Evaluate L sin® xcos® x dx
(b) Evaluate J-: xsin’ xcos' xdx
8 (a) Solve y" -4y 14y =3cosx
(b) Solve (D-4) :8(303 2x 4% )
OR
9 (a) Solve Y =2y +2y=x+ecosx
(b) Solve y" -y =xcos3x.
10 (a) Find the Laplace transform of ¢ sinar .
(b) Find the Laplace transform of ¢ " sin"«
OR

11 (a) Findthe Laplace transform of cost cos 2z cos 3t

(b) Find the Laplace transform of sin” (2 +1).
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Code: 17T00106A

Pharm.D | Year Regular & Supplementary Examinations December 2020
REMEDIAL MATHEMATICS
(For 2017, 2018 & 2019 admitted batches only)

Time: 3 hours Max. Marks: 70

PART - A
(Compulsory Question)

e e

1 Answer the following: (10 X 02 = 20 Marks)
1 I3
(a) Findtheinverseof [ 1 3 -3
-2 -4 -4
(b) If tan%:z and tan%z%, determine the relation between a, b, c.

Compute the limit Lim

(c) A
2 l x—gl

w

(dy If z =x +y3 —3axy then show that . d f
yox  Oxdy
(e) Evaluate the integral _[ —\% dx .
5 SIN X +Cos” x
xi2
(fy Evaluate ( sin| x| dx.
_:”13 -..
dl
(g) Find the general solution of x + y—-')— =0.
dx
d’ dx
(h) Solve S+ 6= 49x=0.
dt” dr

(I} Find the vertex and focus of 4y” +12x =20y +67 =0.
(j) State first shifting property.

PART - B
(Answer all five units, 5 X 10 = 50 Marks)

1 1 ’
—(1+i) —(=1+D)

2 - (a) Prove that the matrix 4 = I "] is unitary and find 47"
3{14-:’) —2—(]—1')

] 3 ;
(b) In AABC, if --1—1 =  showthatC =60".
a+c b+c a+bic
OR
3 (a) Solve the following system of equations by matrix method 2x—-y+3z=8 , x-2y-z= -4,

3x+y—4z=0.

If the angles of AABC are inthe AP and b:c¢c = \E : \.6 then show that 4 = 75",
Contd. in page 2
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Code: 17TO0106A

4 (a) Verify whether the following function is differentiable at 1 and 3.

[ x if  x<l
f(x)zlS—x if @ 15x£3
xP—4x+3 if x>3
(b) Ifax® +2hxy+by* =1, then prove d—): :ﬂ_
dax”  (hx+by)
OR
: Lo x+2p+3z o 5,
5 (a) Ifu =sin' \h;]—!—t)—g find the value of x£+yj+z?£,
X4y +z ox oy 0z

(b) Find the n” derivative of e* (2x+ 3)3 by using Leibnitz theorem.

, A0S G o — T ’ s o
6 (a) Evaluate .Lim e by using definite integral as the limit of a sum.

n—n 1

/4
(b) Evaluate J log(1+ tan x) dx.

a

OR

t xsin’ x

7 (a) BEvaluate _[7 dx .
. 2 | +cos x
| .
log(1l+ x

(b) Evaluate _[—5(—,’” dx .

- 1+ x
Sy=Tx+7

{y
8 (a) Solve the differential equation i — .
de 3x-7y-3

(b) Solve (D- 2)3 y= 8(&??‘ +5in 2x + x° ]

OR
d ooy
9 (a) Solve 4 i:.__--‘..n._._ =1,
X X X+

(b) Solve p" =2y +2p=yx=+e’cosy.

10 (a) Show that the lines 2x+y—3=0,3x+2y-2=0 and 2x-3y—23 =0 are concurrent and find the
point of concurrency.

(b) Find the Laplace transform of ¢™* + 41" —2sin3t +3cos3r.
OR
11 (a) Find the coordinates of the vertex, focus, equation of directrix and axis of the following parabola
38 -9x+5y-2=0.

(b) Find the Laplace transform of ¢*' cos™ ¢ .

EEwkh
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Code: 17T00106A

Pharm.D | Year Supplementary Examinations February 2020
REMEDIAL MATHEMATICS
(For 2017 & 2018 admitted batches only)

Time: 3 hours Max. Marks: 70

PART-A
(Compulsory Question)

dedede ek

1 Answer the following: (10 X 02 = 20 Marks)
(a) Find the inverse of the matrix 4 = [é g .

(b) IftanA = 3/5,find the values of sin 24 cos 24.

(c) State Leibnitz's theorem.

(d) Form the differential equation y = ae* + b, where a, b are parameters.
(e) Evaluate [xe**dx.

(f) Find - (5x2 + 6 sinx),

(g) Find the value of limx_.o—ii:;?

(h) Integrate _[02” sin?x dx.
(i) Find the distance between the two parallel lines 3x + 4y +3=10,3x+ 4y + 7 =0.
() Find the value of L{cos?2t}.

PART-B
(Answer all five units, 5 X 10 = 50 Marks)

8 -6 2
2 (a) IfdA= l—6 7 —4] then show that A(A — 31)(A — 151) = 0.

2 —4 3
(b) Inatriangle ABC, prove that cos? g + cos? % - coszg =2 cosgcosgsing‘
OR
3 From the top of the hill 200 meters high, the angle of depression of the top and bottom of a pillar on

the level ground are 30° and 60° respectively. Find the height of the pillar.

4 (@) Ifu=tan™? ("x’j) then prove that x 2% + yg—; = sin 2u.
(b) Find the n" differential coefficient of x3logx.

OR

5 (a) Ify=tan~?! ('1+x2+ 1) for 0 < |x| < 1, find z—i.

T e O
(b) Find the derivative of log(x + VxZ — 1),

dx
(x+2)(x+3) "

(b) Prove that 77 % __ gy = T,

0  sin™x+cos"x

6 (a) Evaluate [

OR
7 (a) Evaluate Iﬂzax'?/z (20’. =i x)-uzdx

(b) Find the value of /% log(tanx)dx.

Contd. in page 2
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Code: 17T00106A

; ; s ody  yi4l
8 (a) Solve the differential equation i
2 L & = hz—ab
(b) Ifax*+ 2hxy + by* = 1, prove that 1 D
OR

Y (a) Solvey!+2xy=e*.
(b) Solve the differential equation (1 + x)y dx + (1 + y)x dy = 0.

10 (a) Find the area of the triangle formed by following straight lines and the coordinate axes:
()2x—4y—-7=0.
(i) 2x =S5y +6=0.
(b) Find the L{e™* cosht + t?}.
OR
11 (a) Find the locus of point P such that PA+PB = 6 wherz A(0, 2) and B(0, -2).
(b) Find the Laplace transform of e=3t(2 cos 5t — 3 sin 5t).

Fedededede
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Code: 17T00106A

Pharm.D | Year Regular & Supplementary Examinations July/August 2019
REMEDIAL MATHEMATICS
(For 2017 & 2018 admitted batches only)

Time: 3 hours Max. Marks: 70
PART - A
(Compulsory Question)
1 Answer the following: (10 X 02 = 20 Marks)
1 3 3
(a) Find the determinantof a matrix A=|1 4 3].
1 3 4

(b) Show that cos?48° — sin?12° = 241
8

(c) Find the derivative of the function y = e* + x™ + Slogx.
(d) Find the value of lim,_,, (M)

x—a

(e) Find the angle between the lines 2x +y + 4 =0 and y-3x = 7.

(f) Evaluate [vx(1—x)dx.

(g) Show that the points (2, 2), (6, 3), (4, 11) form a right angled triangle.
(h) Solve the differential equation g ~Hay,

(i) Find the Laplace transform of sin2t sin3i.

(i) Evaluate [ cosec x dx.

PART - B
(Answer all five units, 5 X 10 = 50 Marks)

a b ¢ l
a-b b—-c c—aj=a®+b>+c>-3abc.
b+c c+a a+b

(b) 1f A+B+C=180°, prove that sin (g) + cos (L;E) = 2cos (lg) cos (g)

2 (a) Show that

OR
1 a* &
, (a) Showthat|1 p2 p3|=(a—b)b—c)(c—a)lab + bc + ca).
1 & &

(b) Find tan (% +4)and cot (3+4) in terms of tan A and cot A.

4 (a) IfY =x*cos3x, find 1/n using Leibnitz's theorem.
(b) Find the differential equation from the equation y = Ax3 + Bx2.

OR
5 (a) Solve Z—; = %
(b) ifU =log(x® + y* + z* — 3xyz), show that (:—x + iy i %}2 W= E:#liz)z
6 (a) Evaluate Jf (x —a)(b — x)dx.
(b) Evaluate j4+s;nx
OR

tanx
7 (a) Find the value of f;ﬂi—ﬁz—x

(b) Evaluate [ x cos®x dx.

X

Contd. in page 2
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Code:

17T00106A

Solve (x + 1) +1=2e7.
Solve xy'+y+4=0
OR

Obtain the differential equation of the coaxial circles of the system x2 + y2 + 2ax + ¢2 = 0 where ‘c’
is constant.

Solve the D.E. (xy? +x)dx + (yx? + y)dy = 0.

Find the area of a triangle formed by the points (1, 2), (3, -4) and (-2, 0). .
Find the Laplace transform of e ~¢ cos 2t.
OR
Find the equation of locus of a point P, if A = (2, 3), B = (2, -3) and PA + AB = 8.
Find L{e*" sin 2¢ cos t}.

* F dedode
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Code: 17T00106A

Pharm.D | Year Regular Examinations July/August 2018
REMEDIAL MATHEMATICS
- (For 2017 admitted batches only) »
Time: 3 hours , Max. Marks: 70
PART - A
(Compulsory Question)

ek hdeh

1 Answer the following: (10 X 02 = 20 Marks)
(a) [1 0 -1 —2]
In the matrix 4 = (3 2 1 0 |. Write the order of the matrix and write the elements
5 4 3 2
Qy3, A31, O33, Az4, Q33- - - .

(®)  Evaluate Ig :;I

(©)  Find %:x=y+2‘
D Find €2y =

Find ——2:y = a™.
(®) , Find [ x? (1.— fz) dx e a . i & = =
() Find [(x?3 +1) dx
(9) What are differential equations? Write one example.
f: +w?x =0
()  Find the distance between the point (2,3), (1,5).
() Find Laplace transformation of sin hat.

PART -B
(Answer all five units, 5 X 10 = 50 Marks)

UNIT -1
Find x and y if 2x + 3y = [i g] &3r+2y=|
OR

If x = acos @,y = bsin 8, find the value of :i—:+z—:.

(") Find the order and degree of equation

- -

el

() Iftang = %,ﬂnd sin @ cos 6 cot 8 and cosec 6.

UNIT - 1I
4 (@ Ifx=(cos6+6sinb),y = (sinf — 6 cos ), show that = = tan.
(b) Ify = (x?)°8* find dy/dx..
dn - -

- OR - - - _.
5 (a — pAx+3y i g OU DU
@) ifu=e**3 find ey
(b) If f(x) = sin 6x.sin3x, find " (0).
UNIT - 11l
6 i 1
Find [ ———dx.
OR
7 Find [ x sin™ x dx. - .
UNIT - IV
8 Solve equation %+ V=X
. . OR .
9 Solve using variable separable method (1 — cos y)dx + (1 — cosx)dy = 0.
UNIT -V
10 Find the equation of the straight line passing through the intersection of the lines x+y+1 = 0
and 2x-y+5 = 0 and through the point (5,-2).
OR
11 Find the Laplace transform of

(i) (V’? - virc.)s (ii) cost.cos 2t .cos 3t.

dedrdkdedk



Code: 14T00106A/ T0O810006A

-

Pharm.D | Year Supplementary Examinations July/August 2018
REMEDIAL MATHEMATICS
(For 2016 and prior to 2016 admitted batches only)

Time: 3 hours Max Marks: 70

(b)*

(a)
(b)

(b)

(b)

(b)

(b)

(b)

8 (a)
(b)

Answer any FIVE questions
All questions carry equal marks

*hkhh
- - - - -

-7 —8B 6 8 9 11
Verify (4 + B) = A"+ B’ for the matrices A = [ 8 5 9|landB = [1 2 3 ]
4 6 7 6 8 2
—a? ab ac
Show that [ ba —=b% bc I = d4a?bh?c2. = - * - *
ac  bc —c?
Prove that:
tanf+secf—1 _ 1+sinf
tanf-sec+1  cosf
|f9+¢=§,rhen(1+tane)(1+tan¢)=2 ; ; .

An equilateral triangle has one vertex at (3,4) and another at (-2,3). Find the coordinates
of the third vertex.

Find the derivatives of the locus of a point which is equidistant from the point (2,4) and the -
y-axis.

If z=1¢t>—3t* + 2t + 8, then find % Also, find the value of the derivative att=0,1,5.
Find the derivatives of the following functions with respect to x at the indicated points.

(i)x +sinxcosx atx =0 (ii) 1-sinx

m
1+cosx B 2
Form the partial differential equation by eliminating the arbitrary constants z = ax® + by?®.
Form the partial differential equation by eliminating the arbitrary function z = yf(x? + z?).

5x?
————dy
x2+4x43

Evaluate the following definite integrals: fulx(l —x)%dx.

Evaluate the following definite integrals: _flz
Solve the differential equation e*Ydx + e¥~*dy = 0
Solve j—i + 2xy = g,

Find the Laplace transform of e2t + 4t3 — 2 sin 3t + 3 cos 3t.
Find L(e™3*(cos 4t + 3sin4t)).

e ded deodk



Code: 14T00106A / T0810006A

-

Pharm.D | Year Regular & Supplementary Examinations July 2017
REMEDIAL MATHEMATICS
(For 2016 and prior to 2016 admitted batches only)

Time: 3 hours Max Marks: 70
Answer any FIVE questions
All questions carry equal marks

khkkk

2 4 3
(a) Find determination of [1 -4 1 l
0 3 -7
. . 2 3 -1 .
(b) Given the matrices A, B, C, 4 = [3 0 2 ] B=|1{ C=[1 2]then find (AB)C.
2.

sec8A-1 tan 84
(a) Prove that oy

(b) Show that 4 sin%.«% sinaz—e.cos 30 = sinB —sin 20 + sin 48 + sin 76

(a) Evaluate the limit:
. Vx2+1-v—xZ+1
im
x=0 X
(b) Find S—E wheny = 5x2 + sinx + 4e* — log x + tan x.

(@) If the acute angle between the lines 4x — y+7=0, Kx —5y—9 = 0is 45° then find the value of K.
(b)  Find the derivative of the following function with respect to x,. e*(x° + 3).

(a) Solvej—: = (6x+y +5)2.

TG o
(b) Solvedx+2dx-e ]

Find the Laplace transform of:
e —1

(a)

a
(b) (t+ D3
() e Sin2tCost.

(@) Find the equation of the line passing through the point (3,—2) and perpendicular to the line 2x + 3y + 4 = 0.
(b)  Find the angles of the triangle whose sides are x +y — 4 = 0, 2x + y—6=0and5x+3y—15=0.

1 7' show that 4% = 24 and 42 = 44,
1

(b) IfA= [‘; 1 0], B= E {1] ";rl], €= H Find the matrix X such that (3B — 24)C + 2 = 0.
| 1

(a) IfA=[

-2 2

*Ehdk



Code: 17T00106A

Pharm.D | Year Regular & Supplementary Examinations November/December 2022

REMEDIAL MATHEMATICS

(For 2017, 2018, 2019, 2020 & 2021 admitted batches only)

Time: 3 hours

(a)
(b)
(c)
(d)
(e)

(f)

(9)
(h)
(i)
)

2 (a)

(b)

3 (a)
(b)

4 (a)
(b)

5 (a)

(b)

PART - A
(Compulsory Question)

Answer the following: (10 X 02 = 20 Marks)
Find the determinant of matrix /1 = [g % :
What is the use of Cramer's rule?
Find the equation of the circle whose centre is (5, 7) and radius 4.
Compute lim,_,, xle
If tan(A-B ) = 7/24 and tan A = 4/3, then find A+B.

il
Integrate I cos® xdkx.

0
Define: (i) Differential equation. (i) Order of a differential equation.
Solve: & = XY,

dx x

Find Laplace transform of e %,

Find the Laplace transform of (2.

PART - B
(Answer all five units, 5 X 10 = 50 Marks)

fa=[", %Jandn=[* 1 FindABandBA.

1 a a?
Showthat |1 p p2|=(b-c)(c—a)(a—b).
1 ¢ 2%
OR
Find lim,_3 4x% — 1.
Prove that cot(4 +15)— tan(A—lS) =~@4—.
1+2sin24
Find the #” derivative of e* (2x+3)’.
Find the »" derivative of ¢ cos® xsin x.
OR
_3 + 3 :
If u=tan”'| =22 prove that xa—u+ya—u=si|12u.
xX+y Ox ay
If x=rcos@, y=rsiné, z=z find M
o(r,0,z)

Page 1 of 2

Max. Marks: 70

Contd. in page 2
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11

(b)

(a)

(a)
(b)

(a)

(b)

: 17TO0106A

Find the value of jxl cos xdyx .

Find the value of [} /x(1 —x) dx.

Evaluate [ x%e* dx.

L sinxdr
Evaluate [ sy
dy  xy
Solve — = :
de 14y

Solve y" =3y’ +2y =xe™ +sin2x.

2
soive 42 7% 412y =0.
%

dx
Solve dd—“,v—SQHSy =4sin4x.
dx” dx

Find L{e" sin 6f + £ cos 3:‘}.

Find the area of a triangle formed by the points (1, 2), (3, -4) and (-2, 0).

Find the Laplace transform of the function Sin 5t Cos 2t.

OR

OR

OR

Find the Laplace transform of 1*¢™ sin 2¢ .

ook Ao
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Code: 17T00106B

Pharm.D | Year Regular & Supplementary Examinations July/August 2019
REMEDIAL BIOLOGY
(For 2017 & 2018 admitted batches only)

Time: 3 hours Max. Marks: 70
PART-A
(Compulsory Question)
Fedede ek
1 Answer the following: (10 X 02 = 20 Marks)
(a) What is the need of classification?

)
(b) Give the outline of modern system of classification of kingdom plantae.
(c) Define inflorescence and what are main types of inflorescence.
(d) Write about the classification of fruits.
(e) Name the common plants family Lilliaceae and write the diagnostic features of flower.
(f) Describe the structure and functions of bacterial cell wall.
(9) Write a short note on mitochondria of animal cell.
(h) What are the functions of connective tissue?
(i)  Write a short note on Pisces.
(i) What are poisonous animals?

PART -B
(Answer all five units, 5 X 10 = 50 Marks)

2 Discuss about the leaf modifications with neat labeled diagrams.

OR
3 Explain in detail about the morphology of stem.
4 Describe the morphology of seeds with neat diagram.

OR
5 Discuss about the cymose inflorescence with help of neat diagrams.
6 Explain the taxonomic hierarchy of the family Umbelliferae.

OR
7 Explain the systemic hierarchy of two plants belongs to the family Rubiaceae.
8 Differentiate between plant cell & animal cell and describe the structure and functions of Golgi

apparatus.

OR
9 Classify epithelial tissues and explain their structure & functions with the help of neat diagrams.
10 Explain the general characters of reptiles.

OR

11 Explain the important characters of Chelonia mydas.
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